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Ch 7.2 Two Proof-Oriented Triangle Theorems    Pp 304 – 305 (1– 10) 
 

1)  Given:  𝐽𝑀̅̅ ̅̅   𝐺𝑀̅̅̅̅̅, 
                    𝐺𝐾̅̅ ̅̅   𝐾𝐽̅̅ ̅ 
 
Conclusion:  ∡G ≅ ∡J 
 
 
 
 
 
 
 
 
2)  𝐶𝐵̅̅ ̅̅   𝐴𝐵̅̅ ̅̅ , 

       𝐷𝐸 ⃡     || 𝐴𝐵 ⃡    , 
       ∡CDE = 40⁰   
 
Find:  m ∡A, m ∡C, and m ∡CED 
 
 
3)  Given:  𝑃𝐷̅̅ ̅̅  and 𝑃𝐶̅̅ ̅̅  lie in plane m. 
                     𝐵𝑃̅̅ ̅̅   m,  
                     ∡C ≅ ∡D 
 
Prove:  ∡PBC ≅ ∡PBD 
 
 
 
 
 
 
 
 
 
 
 
 
4)  Given:  𝑀𝑅̅̅̅̅̅  𝐾𝑃̅̅ ̅̅ , 
                    𝐾𝑂̅̅ ̅̅   𝑃𝑀̅̅̅̅̅, 
                    ∡RKM ≅ ∡OMK 
 
Prove:  ΔRKM ≅ ΔOMK 
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Statements           Reasons 
 
1.  ___________________________________  1.  ________________________________________________ 
 
2.  ___________________________________  2.  ________________________________________________ 
 
3.  ___________________________________  3.  ________________________________________________ 
 
4. ___________________________________    4.  ________________________________________________ 
 
5. ___________________________________    5.  ________________________________________________ 
 
 

Statements           Reasons 
 
1.  ___________________________________  1.  ________________________________________________ 
 
2.  ___________________________________  2.  ________________________________________________ 
 
3.  ___________________________________  3.  ________________________________________________ 
 
4. ___________________________________    4.  ________________________________________________ 
 
5. ___________________________________    5.  ________________________________________________ 
 
6.  ___________________________________   6. _________________________________________________ 
 

Statements           Reasons 
 
1.  ___________________________________  1.  ________________________________________________ 
 
2.  ___________________________________  2.  ________________________________________________ 
 
3.  ___________________________________  3.  ________________________________________________ 
 
4. ___________________________________    4.  ________________________________________________ 
 
5. ___________________________________    5.  ________________________________________________ 
 
6.  ___________________________________   6. _________________________________________________ 
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5)  Given:  ⊙O, 
                     ∡SOV ≅ ∡TOW, 
                     ∡WSO ≅ ∡VTO 
 
Prove:  𝑆𝑂̅̅̅̅  ≅  𝑇𝑂̅̅ ̅̅  
 
 
 
 
 
 
 
 
 
 
6)  Given:  GJKM is a rhombus. 
                     𝑂𝐽̅̅ ̅  𝐺𝑀̅̅̅̅̅, 
                    𝑀𝐻̅̅ ̅̅ ̅  𝐺𝐽̅̅ ̅ 
 
Conclusion:  𝑀𝐻̅̅ ̅̅ ̅  ≅  𝐽𝑂̅̅ ̅ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
7)  Given:  ∡A ≅ ∡X, 
                    ∡AVZ ≅ ∡XYB 
                    ∡ZVB ≅ ∡YBX 
 
Prove:  VBYZ is a              . 
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Statements           Reasons 
 
1.  ___________________________________  1.  ________________________________________________ 
 
2.  ___________________________________  2.  ________________________________________________ 
 
3.  ___________________________________  3.  ________________________________________________ 
 
4. ___________________________________    4.  ________________________________________________ 
 
5. ___________________________________    5.  ________________________________________________ 
 
6.  ___________________________________   6. _________________________________________________ 
 
7.  ___________________________________  7.  _________________________________________________ 
 
8.  ___________________________________  8.  ________________________________________________ 

Statements           Reasons 
 
 
1.  ___________________________________  1.  ________________________________________________ 
 
2.  ___________________________________  2.  ________________________________________________ 
 
3.  ___________________________________  3.  ________________________________________________ 
 
4. ___________________________________    4.  ________________________________________________ 
 
5. ___________________________________    5.  ________________________________________________ 
 
6.  ___________________________________   6. _________________________________________________ 
 
7.  ___________________________________  7.  _________________________________________________ 
 
8.  ___________________________________  8.  _________________________________________________ 
 
9.  ___________________________________  9.  _________________________________________________ 
 
10. __________________________________  10. ________________________________________________ 

Statements           Reasons 
 
1.  ___________________________________  1.  ________________________________________________ 
 
2.  ___________________________________  2.  ________________________________________________ 
 
3.  ___________________________________  3.  ________________________________________________ 
 
4. ___________________________________    4.  ________________________________________________ 
 
5. ___________________________________    5.  ________________________________________________ 
 
6.  ___________________________________   6. _________________________________________________ 
 
7.  ___________________________________  7.  _________________________________________________ 
 
     ___________________________________        ________________________________________________ 
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8)  The measures of the angles of a triangle are in the ratio 3 : 4 : 8.  Find the measure of the supplement of the 
        largest angle. 
 
 
 
 
 
 
9)  Given:  Triangle as marked 
 
      Find:  m∡1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
10)  Given:  ∡J ≅ ∡O, 
                       𝐽𝐾̅̅ ̅  ≅  𝑂𝑃̅̅ ̅̅ , 
                       𝐻𝐾̅̅ ̅̅  ≇  𝑀𝑃̅̅̅̅̅ 
 
Prove:  ∡H ≇ ∡M 
 

 

Step 1: 

 

Step 2: 

 

Step 3: 

 

 

 

Step 4: 
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